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The figures in the margin indicate

(@)

(b)

(c)

(d)
(e)

Jull marks for the questions.

Answer any five questions.
10x2=20

Define alphabets and string of a

language.

What do you mean by Finite in a
Deterministic Finite Automata ?

What do you mean by Nondeterministic
in a Nondeterministic Finite Automata ?

Define left linear grammar.
Define transition function of an NFA.

Contd.



€ D/doul (zos 8J) €S

qqlvisas < g

3|p|syp <V

g5V « S

"ULIOY [eULION

Aswoy) 03 rewwresd Juimo[oj ayj
JSAUOY) "ULIOY [BUWLION ASswoy) auna(

0T=8+.+S ¢ fymBiqure jo

waqoad a1y} st jeyp ‘oidurexs ue yim

urerdxy ¢ rewrwreld snondiqure sI JBYM
“ {ap}pm: 233,“"

aden3ue| ay) jo Jewrwreid ayj ALIM

¢ rewruread
991J-1X2JU00 SI Jeyp) ‘Tewuwreld auma(

0T=8+.L+S

: wreaderp SuImo[[0]
9yl jo uorssaidxs Iensal ayj} puiy

.*.ﬁaadwwma ﬁSm
{q ‘D}>'m:mgo'm} =17

ommﬂmﬁmﬁ. >
oy} jo uorssardxs remnSar e QM | f

m g

()

(9)

m ¢
@ \\1!/

4 D/doul (zos 82) €8

‘uorssardxs remdar auygeq (v)

0C=L+L+9

=

a.u. ae.

: wreaderp SUIMO[[O] 93 WOJ] > JAOWIY

.“.An.uww mpue {q‘v}>'m:im'm}=1
agendue| 9y} 0] VAN 10 VJid ® 2aum

‘'sojdurexs yim a3en3ue]
Jeing8ai-uou pue Je[ndar auyaqg

¢ 9211 UOIBALIDP ST Jeym

{1 j0u sI
m JO [oqWIAS pud 3y} PuE () JOU SI M JO
[oquifs 1re3s : Lﬁ ‘0} >2m} =7 o98en3uey
oy} jo uorssaidxs remSar oyl 9LIM

‘a8en3due

‘z-odAy ‘1-2dL) ‘p-2df3)

(e-2d4y
—_ SI1Vydd ® 4Aq paidaooe o8en3ue]

¢ ewrwa] Surdwing jo Amn ayj st 3BYM
(WL ‘Vad ‘VIN §a

ur paajoaur st uonerado yoels”

()

(@)

(v)

0

1)

(y)
@

__s

€




(b) Define Push Down Automata. Design a
Push Down Automata for the language

= {wwR rwela, b}'}-

10+10=20

6. Define Turing Machine. Design a Turing

machine for the language :

L ={c1"'b"‘c'rl ‘n> 0}

7. Write short notes on:

20

4x5=20

(@) Multitape Turing Machine

(b) Turing thesis

(c) Primitive Recursive Function

(d) NPDA.

_II .h.. .‘\ X

53 (CS 502) ThCP/G

4

xr b,

{/?

——

100



